Gebruik Aqion.onl : 
aqion - Online pH Calculator
  
pH berekeningen van zouten. De concentraties zijn aan te passen, evenals de zuurrest:

	Al-zout
	[image: ]

	Ba-zout
	[image: ]

	Ca-zout
	[image: ]

	Cd-zout
	[image: ]

	Co(II)-zout
	[image: ]

	Cr(III)-zout
	[image: ]

	Cu(II)-zout
	[image: ]

	Fe(II)-zout
	[image: ]

	Fe(III)-zout
	[image: ]

	Hg(II)-zout
	[image: ]

	K-zout
	[image: ]

	Mg-zout
	[image: ]

	Mn(II)-zout
	[image: ]

	NH4-zout
	[image: ]

	Na-zout
	[image: ]

	Ni(II)-zout
	[image: ]

	Pb(II)-zout
	[image: ]

	Sr-zout
	[image: ]

	Zn-zout
	[image: ]






























image4.png
H,O + 1,0mM Cd(NO3)2

pH = 6,56tz
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H,O + 1,0mM Co(NO3)2

pH=6,39 ®i=o
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H,O + 1,0mMCR(NO3)3

pH=3,66 ti=o
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H,O + 1,0mMCu(NO3)2

pH=5,29 ®izo
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H,O + 1,0mMfe(NO3)2

pH=6,29 ti=o
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H,O + 1,0mMfe(NO3)3

pH=3,01 w0
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H,O + 1,0mM Hg(NO3)2

pH=3,06 iz
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H,O + 1,0mMKNO3

pH = 7’0 (bij 25°C)
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H,O + 1,0mM mg(NO3)2

pH=6,94 w0
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H,O + 1,0mMMn(NO3)2

pH=6,76 ©iz%
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H,O + 1,0mM Nh4no3

pH=6,13 w0
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H,O + 1,0mMNaNO3

pH = 7’0 (bij 25°C)
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H,O + 1,0mMNi(NO3)2

pH = 6,46 bizo
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H,O + 1,0mM Pb(NO3)2

pH =541 ®izwa
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H,O + 1,0mMSr(NO3)2

pH = 7’0 (bij 25°C)
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H,O + 1,0mMZn(NO3)2

pH=6,02 ti=o
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H,O + 1,0mMAINO3)3

pH =408 iz
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H,O + 1,0mM Ba(NO3)2

pH = 7’0 (bij 25°C)
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H,O + 1,0mM Ca(NO3)2

pH = 7’0 (bij 25°C)




